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Bg/L
6 2 6 3 6 4 6 5 6 6 6 7 6 2 6 3 6 4 6 5 6 6 6 7
7:00 7:00 7:00 7:00 7:00 7:00 7:45 7:25 7:20 7:10 6:45 6:45 /
mm/ 17 0 0 0 0 0 17 0 0 0 0 0 /
m®/ /
Cs-134 2 18 ND(0.66) 0.73 0.86 0.80 0.85 40 ND(0.69) | ND(0.77) | ND(0.80) | ND(0.64) | ND(0.58) /
Cs-137 30 14 5.2 5.6 5.3 8.0 9.6 30 12 0.92 ND(0.78) 14 14 /
B 23 11 16 12 12 12 81 ND(3.4) 6.0 3.4 ND@3.2) | ND(3.2) /
H-3 12 - - - - - - - - - -
Bg/L
K C 35m
6 2 6 3 6 4 6 5 6 6 6 7 6 2 6 3 6 4 6 5 6 6 6 7
7:00 7:00 7:00 7:00 7:00 7:00 8:03 6:54 7:05 6:43 7:26 7:13 /
mm/ 17 0 0 0 0 0 17 0 0 0 0 0 /
m®/ /
Cs-134 2 5.7 23 12 13 ND(1.4) | ND(0.86) 15 ND(0.56) | ND(0.59) | ND(0.69) | ND(0.57) | ND(0.71) /
Cs-137 30 43 17 11 12 5.0 5.5 9.2 2.1 17 ND(0.87) 11 ND(0.81) /
B 67 22 20 20 9.2 13 33 17 16 8.5 6.9 ND(3.7)
H-3 12 - - - - - - - - - -

ND



Bg/L

A K 35m

Cs-134 2 46 [14/6/12] 56 [14/6/12] 280 [14/5/21] 22 [14/6/12]
Cs-137 30 130 [14/6/12] 160 [14/6/12] 910 [15/9/9] 57 [14/6/12]
B 200 [14/6/12] 190 [14/6/12] 1500 [%fsl 5;9//2;5]] 5400 [15/2/22]
H-3 12 29 [14/5/7] 35 [14/5/7] 820 [14/6/18] 2500 [15/6/18]




